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Keeper 4





𝑓(𝑔 𝑥 = (𝑓 ∘ 𝑔)(𝑥)

𝑔(𝑓 𝑥 = (𝑔 ∘ 𝑓)(𝑥)



Given the table, evaluate the following:

1. 𝑓 −1

2. g 2

3. 𝑓 −3

x -2 -1 0 1 2 3

f(x) -3 -2 1 4 -1 0

g(x) -2 0 1 3 -1 2



Given the table, evaluate the following:

4. 𝑔−1 0

5. 𝑓−1 −2

x -2 -1 0 1 2 3

f(x) -3 -2 1 4 -1 0

g(x) -2 0 1 3 -1 2



Given the table, evaluate the following:

6. 𝑓(𝑔 −1 )

7. (𝑓°𝑔)(3)

8. (𝑔°𝑔)(1)

x -2 -1 0 1 2 3

f(x) -3 -2 1 4 -1 0

g(x) -2 0 1 3 -1 2



1. (𝑓 ∘ 𝑔)(1)

2. 𝑔 ∘ 𝑓 −2

3. (𝑓 ∘ 𝑓)(−3)

4. (𝑓 ∘ 𝑔)(−4)

Given the graph of f(x) and g(x), evaluate the following:

𝒇(𝒙)

g(𝒙)



Given 𝑓 𝑥 = 3𝑥2 − 2𝑥, 𝑔 𝑥 = ln 𝑥 ,
ℎ 𝑥 = 𝑒𝑥 , 𝑎𝑛𝑑 𝑗 𝑥 = 𝑥 + 4, evaluate:

1. 𝑓 𝑗 𝑥

2. (𝑔 ∘ ℎ)(𝑥)

3. ℎ(𝑗 𝑔(𝑥 )


